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1. BR=EAESHRS WE = M o FEIFAEE
(1) Isinmxcos“ xdx A
D m BHEFE = sin™x=sin®™"x=(sin? x)“ sin x = (L—cos® x)* sin x

@ n BEE = cos”x=cos™ " x = (cos® x)“ cos x = (1—sin® x)* cos x

. 5 1-cos2x
sin X=T
® mn &2 = FMABERAK
2 1+ cos2x
cos x:T

(2) _[ sec” xtan" xdx 7Y
® n BEE:
Fl tan" x = tan” x = (tan® x)* = (sec’—1)* #2% sec’ x

H j'sec“2 Xdx = Lsec“ X tan x + L]sec” dx

n+1 1+n
> [secxdx=Injsecx+tanx|+c; [sec’ xdx =tanx+c

@ m REE

= sec” x =sec™? x = (sec” x)* sec’ x = (L + tan® x)* sec® x

B mn .

Step 1] sec™ xtan" x = sec” ™ xtan®* x = sec®™ xtan’* x(sec x tan x)

Step 2] tan® x = (tan® x)* = (sec®~1)*
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2. BA-AEHES
3@ [sinmxcosnxdx * [sinmxsinnxdx B [cosmxcosnxdx
= FA=AREBRLNEAR
@  2sin AcosB =sin(A+ B) +sin(A—B)
@ —2sin Asin B =cos(A+ B) —cos(A— B)

(3 2cos Acos B = cos(A+ B) + cos(A— B)

BIRE 1. (FEHF 1-1)
Calculate [sin x cos” xdx
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BIRE 2. CF5E&EH 1-1)
Calculate [sin xcos® xdx
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BIRE 3. CF&EH 1-1)
Calculate [sin® xcos® xdx
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BIRE 4. (FHEHF 1-2)
Calculate Isi n5x cos 3xdx
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BIRE 5. (F5EHF 1-2)
Calculate jsin X COS 3X COS 5xdX
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BIRE 6. (F5E&#EH 1-3)
Caleulate [tan® xsec” xdx
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BIRE 7. CF5:&EH 1-3)
Calculate [ tan® xsec’ xdx
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BIRE 8. (& H 1-3)
Calculate jsec3 X tan® xdx
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